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Gpirid : 3 el ] [ Qurgs wHUGUaTEeT : 200
Time Allowed : 3 Hours ] [Maximum Marks : 200
siflaeer : (1) Soardg damrésEso eflwrs uHeurdl o eTeTGT 6T 6 LIS 6N 6

slluriggé Qererara|b. dssLLS6 @@muﬁ]@ulﬁ]m SN
sansranliurerii_b o Lagurss Gsfleliésab.

2) Beb deg sl @wulemer L HGW ersusHEGL LwaL(hES
Couahr(Hd. UL RIFET UDTEUSDE Quendled LweTUhiSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

UGS - 3 /PART - A

GO - eTeveor elanTEHEBEGD el wiellEsaL. 30x1=30

Note : Answer all the questions.

I Gamgl L @ misemer Hlyuus :

Fill in the blanks :
1. s Bg ey samsde) LHDH emeussLLIHILD.
Interest on capital is debited in account.
2. @muy Hees GilLiGd Cauiorend GO L O(MHHG! SIS

sr_(Hse GCeuamhib.

Depreciation is deducted from the concerned in the Balance Sheet.
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10.

2

FrlqL|GTET GU(HLOTETD E)earapid CQupliuLTss Qmiiy Blenevd @mILiQeor
LEsSSler Copmemm)id.

Income accrued but not received will be shown on the side of the Balance

Sheet.

R0 How sfléms Gumremmy Ggrdmiefésib.

A statement of affairs resembles a

R Qzmed o Aenowireren Qurss Qerggiser . 5,00,000. D|eU(THEDL_L

Clurmiiyger em. 3,50,000. DHCU(HELI (PS6D G LD.

The total assets of a proprietor are Rs. 5,00,000. His liabilities Rs. 3,50,000. Then
his capital in the business is ;

Gpsmssdt By Cplwrad sarsd. W&
LwerLBSsLILGADS).

method of depreciation is used in the case of Lease.

geuleun(n an@ib Garsden g0 wliben Bg Caiiwrerd sasSl (b
(perm P®D 6T HHeP&SLILIHILD.

Under method, depreciation is calculated on the book value of the
asset each year.

Clerggiser erafligrs Qrréswras Falq ILIGHEL.
are those assets which are easily convertible into cash.

Corgs efbuieen an. 2,00,000 246 2 et Cung) Qrrés efbHuemen ¢h. 65,000,
erefle) sLeim eflhLianar . 2,@GLD.

When total sales is Rs. 2,00,000. Cash sales is Rs. 65,000, then credit sales will be
Rs. A '

FUID g AFTL_&s @)Ly - 1250. <bwrgsde Awrss Qrréas
Qupigsar m. 4,300 LODID Corés Qegissasdr h. 3,750 erafled, Guo
org QsTL&s @)Uy DG LD.

The opening balance of cash in April is Rs. 1250. Total Receipts for the month are

Rs. 4,300 and total payments amounted to Rs. 3,750. Opening balance of cash in
May will be .
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11. @B Sl Lramemins gL 2 (haurssiulL. perh
Indian Partnership Act was enacted in the year

12. g Qersdean wHiy fsfsEnCurg, 2ig) G eom@LD.

When the value of an asset increases, it results in

13. sl Lraflsaflew CGu @EALELL @uuEsh gab @Qoersburs
AmiosgsE i Lrafluien sLer s 5D Gl iy GUPREISLILGHLD.
In the absence of any specific agreement between the partners, partners’ loan to
the firms will carry an interest at the rate of percent.

14. PpuwsHéd uRIEGSTTTSER@LW GurmiLy

The liability of share holders are in a company.

15. Qurg Qeuafui® BIL&E56E 2Fs0rs @iwdssiubeug)
@leeme.
A Public Issue cannot be kept open for more than days.

gllwrar eleLows CoTHOSHSS TIPS :

Choose and write the correct answer :

16. Qar@ur. Ceuamig i eUTL s (1 :
(<) Qumrmiy (=21,) Qarss (@) eumTeDd
Rent outstanding is :

(a) aliability (b) an asset (c) an income

17. sLen Sgran Qer@uL Geuariqul aully St it Couerriq il SETEE, :

(=) Qorgg sasE (=) eu(BLTaTD SaTsE (§) L6l SIS
Outstanding interest on loan borrowed is to be added to :
(a) Asset Account (b) Income Account () Loan Account

18. wupew Quprs LHCaBs@ET LWETLRSSID BipeieDd :
(=) Ay Qwrurflser  (<2) Hlpohiger (&) =&
Incomplete records are generally used by :
(a) Small traders (b) Company (c¢) Government

[ Si;yliyys / Turn over
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19.

20.

21.

22

Qeumenowirge eramm Cemed QFrLTUeLwg) :
(1) sETERGEL LOTTETE OlFT g ser

(=) Blovevg Glergg)ser

(@) Quies saflo eueThiseT

The term depletion is used for :

(a) Intangible assets

(b) Fixed assets

(¢) Natural resources

sjmaisg Gewuour’ () elflsns@Esh 2585 CaTR&ESULIHILD.

(=) ellgrésmybd (=) LLBIG (@) ssaisbd
All Activity ratios are expressed in terms of :

(a) Proportion (b)y Times (¢) Percentage

e Bneuangdlen pL1LF Qardgiser ep. 60,000 wHmid Bl QurmliLser
e. 30,000 erafled BLLiL) el&lsLD <G :
(=) 1:2 (4)1:1 (@) 2:1

Current assets of a business concern is Rs. 60,000 and current liabilities are
Rs. 30,000. Current ratio will be :

taps e 2 ] =) AR ey 2 g
S iuliquied eTarg) srosSnarer LHIEGH ,ELD.
(1) erélit (<) proy (Bap) (@) s-63
Budget is an estimate relating to ___ period.

(a) future - (b) current (¢) past



>

23.

24,

25.

26.

5 3666
gal_LTeirenoudled eULIBSLD
(<=1) sLLTWIDTEIS! (<) sLLmwibledened (@) Caamauudiorarsg

In a partnership business, agreement is

(a) compulsory (b) optional (c) not necessary

LHw sl Lrefl Coréemsudled saTsS LU

(o) prw Az () Pse S50 (@) furs aAlds0
ratio is computed at the time of admission of a new partner.

(@) Gaining ratio (b) Capital ratio (c) Sacrificing ratio

pHQUWT ALY . 30,000 %8 Garhmels@néurs isgTams uHm

MEUESS Galglll HEES :

(=) sl Lraflsaflen s semTaHEGaSeT

(=) BHCLIWT SaTéE,

(@) Qrréss seamée

If the goodwill account is raised for Rs. 30,000, the amount is debited in :
(a) The capital accounts of partners

(b) Goodwill Account

(c) Cash Account

Qurg Qauell® Si@idssiLBL GPPHSULE BITL_&ET :
(241) 3 BrL&ar (=) 5 BrLsaT (@) 7 B ger
The Public Issue must be kept open for at least :

(a) 3 days (b) 5 days (c) 7 days

[ Smins / Turn over
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27

28.

29.

30.

6

@@ Hmwb (&8s smigw HHsLLF Jmwplilseler ereameailsams :

(=1) gemprEd (<) GreaimmELd (@) epamprEd

The maximum calls that a company can make is :

(a) one (b) two (c) three
Qurgleurs HImIOBISET LIkIGS®ET gem(enLiiguie GQeuafludl_cmb.
()5 ()10 (@) 20

Normally companies can issue shares at % of discount.

(@ 5 (b) 10 () 20

gpep LFay perp :

(a)lsﬁ]@@nm SlgLuenLuileorer wpenm
(=) ppero Quprg Qria i udle) e
(@) Cuhammdlu egidldane

Single Entry System is :

(a) a scientific method

(b) an incomplete double entry system

(c) mnone of the above

e. 10,000 1581 < am(HEE 10% Ganbg Gae i wenulle Cgiorerid
Beslul LT psd aparn AaTHsERsEE bésuu@n Cslvrers
Ggrensuden QoSS :

(=1) em. 2,107 (=) . 2,710 (8) em. 2,701

Total amount of depreciation provided on the written down value method at the
rate of 10% p.a. on Rs. 10,000 for first three years will be :

(@) Rs. 2,107 (b) Rs. 2,710 (c) Rs.2,701
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UGS - < PART-B
GOy : () eemeuCuenid LSH eaTESEREE eflenL Wall&Esa . 10x5=50

(i) Gsriur@® erihs eleamsser qealbeuradn@D 50 QIMESMSSHEHSE)

Wamoe ellenL wefldseyd.

Note : (i) Answer any ten questions.

31.

32.

33.

34.

35.

36.

37.

(i) Answer to theory questions should not exceed fifty words each.

sMEs_(HL Lude| eremmmed ereey?

What is adjusting entry ?

Bl&r UL perm GTETDITED 6T Een?

What is Net Worth method ?

Blened QFrsg) eremmmed ereven?

What is Fixed asset ?

Qeweur’(® aNfgrser wrenel?

What are Activity ratios ?

LU Ul qUIEE QOSSERTID S(HE.

Define Budget.

BHEUIWIT eremmmed 6remmen?

What is Goodwill ?

U@ @mUISpLil] eremmed 6Teeo?

What is forfeiture of shares ?

[ Hlpliys / Turn over
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38.

39.

40.

8

2001 g &ibuT 31-1b Breveru @@Grumielery aur s Guppg 5. 10,000
Wensal ly QUOY eurLens . 1,000. Qeueflaurd Garu BLLé Seréslgib,
@miy Hews GHLGeib ereueurn Coreammid erand ST (Hs.

Rent received shown in the Trial Balance as on 315 December 2001 is Rs. 10,000. Rent

received in advance is Rs. 1,000. You are required to show how it appears in the Profit
and Loss account and Balance Sheet.

AHULL SEHEUMDE SIS :

€15
QsrL&s pgHev 24,000
Sjeuauranige QuHD Gemub 9,000
En(hBed (PFev 12,000
@nid s 39,000
er(huyser ?
Calculate the missing information :
Rs.

Capital in the beginning 24,000
Profits made during the year 9,000
Capital introduced during the year 12,000
Capital at the end 39,000
Drawings ?

e. 3,00,000 wUerar @ Qupdrsden Lwenellié sraw 10 ypar@ser
G, dser @nH wHY . 30,000. CrTECsTLEH popuid GCsuimer
cHlflgd SrewTs.

A machine costing Rs. 3,00,000 is estimated to have a life of 10 years and estimated

scrap value is Rs. 30,000 at the end of its life. Calculate the rate of depreciation under
the Straight Line method.



41.

42,

43.

44,

sy Qoru dflgses sansd(s :

{h.
Blar @eomLib 4,000
el LI en et 44,000
lpuemars SpLlud 4,000
Calculate Net Profit Ratio :

Rs.
Net Profit 4,000
Sales 44,000
Sales Return 4,000

3666

Qrrés QupsOSERsE ToaCuU@Ib Bbgl HSSHGET_HEET H(MHs.

Give any 5 examples of Cash receipts.

Grregr, Barm, CarLianT eranmm gl Lmaflsar (peopGui 5 : 4 : 3. argd eldlgsdle
@Qeorutd Ldliha eupgarnt. Crrgr efledlarTt. SHw @eru Lt alEFD wrg?

Roja, Meena and Shobana are partners, sharing profits in the ratio of 5: 4 : 3. Roja ‘

retires. Calculate the new ratio.

Gerper auengum Hmiod germ ¢p. 100 6igw @h. 1,000 uk@Gsmear . 20

weansgde Qesefudl L gl GHLCLLE Udley sHs.

Cholan Ltd. issued 1,000 shares of Rs. 100 each @ a premium of Rs. 20 per share. Pass

Journal Entry.

[ Sliys / Turn over



3666

GSDlLLSHeT :

Note :

()
(i
()
(i)

10

u@d - @ /PART-C

gCsamid mHa amssens@ el walssab. @eunmer
45 cugl efammeln@ sLmub elwlwallss Gauar@n.  5x12
Carlur( grihs el e & & 6T geuGleuman il h@id
150 aunTEenssEndE WaToe ellan_wiaflssalb.

Answer any five questions including Question No. 45 which is

compulsory.
Answers to theory questions should not exceed 150 words each.

45. 31 -3 -1998 eyamepw @@Uuniey Sp&sTanib ellefhismars SHEDE.

(=) s
er(pLiLy
ahuy Bg ey 5% s@wdss. #lss (G udebd, wropl LSen
ghgl @oma @mds sans@saila ereueurn Caramib erand ST(s.

L o) YDy
----- . 5,00,000
e, 50,000 = ------

S|60605)

(<24) Hmod). afeor nerpLi LiFlay penuled sag) samECHDsmeT meusE\mESnTT.
Sfeur 1 griiyed 2002 e . 3,00,000 epg@iL e Csmbles Clgm midle. wris

31, 2003 6N SjeuHEnL L Hlenad Sipsseeurm E\(HHSE!.

.
& QrrEsid 8,000
upue sLablseTT 50,000
aumdl Qrrésd . 20,000
QeaisaneMu wrhms & Had 10,000
<24 G D SBEET 40,000
QarRiuL Geuerig W GlFaa]sar 8,000
Qumdluyd, Qurhlsd QgmeESH b 2,00,000
UHLIG SLamenaern 1,50,000
&r&8lmuL 1,50,000
Qumsp@Nw wrHm & s 15,000

2002 - 03 1b <y a@mge Hmwd. adeor QuHp @erubd g HLL b
STES (HS.
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The Trial Balance shows the following as on 31 - 3 -1998

(a) Capital Rs. 5,00,000

Drawings Rs. 50,000

Charge interest on drawings @ 5%. Pass adjusting and transfer entry. Show how

this item will appear in the Final Accounts.

OR

(b) Mrs. Sheela keeps her books by single entry. She started business on
18t April 2002 with Rs. 3,00,000. On 31%t March 2003 her position was as under.

Rs.
Cash in hand 8,000
Sundry Creditors 50,000
Cash at Bank 20,000
Bills Payable 10,000
Furniture 40,000
Outstanding Expenses 8,000
Plant | 2,00,000
Sundry Debtors 1,50,000
Stock 1,50,000
Bills Receivable 15,000

Ascertain the Profit or Loss made by Mrs. Sheela during 2002 - 03.

[ §®liys / Turn over
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46. Gemeud elleuriigsamens Glamesr(H
(1) Qrgg @eru &S (=) ey @eoru elldlgid

(@) sradmuy edpuemer eldlsLb () sLeameaflaser eflpuemer alldlsid
S Ffweupenn sanssl(Hs.

e
elmuener 1,50,000
llpm Qurpeflem 2iL&s eSlene 1,20,000
Qar_sss FrésmiiL 29,000
Gmd& gradlmiy 31,000
sL_ametlser 15,000
Hlireurss Caellermiser 15,000

From the following details calculate :

(a) Gross Profit ratio (b) Net Profit ratio

(c) Stock turn over ratio (d) Debtors turn over ratio

Rs.
Sales 1,50,000
Cost of goods sold 1,20,000
Opening stock 29,000
Closing stock 31,000
Debtors 15,000
Administration Exp. 15,000
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47. Mprseg Sl ulque swurfiiudd o drer Howsmer elarées.

Enumerate the steps in the preparation of cash Budget.

48. Furs 8s58DE0, st OHs5HDEBH@LCW 2 drer Coumur@sar

Wwmeney?

Distinguish between sacrificing ratio and gaining ratio ?

49. Gguiwrend gHUDCISDSTET STFeRTERIGET WITa6?

What are the causes of depreciation ?

50. @® Hlpeuand 1-4-2001 ey @m. 2,40,000 wHliyerer QuipSrd getam .
aurridlwg). 31-3-2004 sieny QuibSrsems ap. 1,68,000 &@ oldmsy. geiGaum(m
@RI WriE 31 A SaTEGST Wigssl Qundapear. Csiinrernd
10% CpraCari® weapuid Bsslul Lg. Qubdrd sarsmsubd, Caiinreab
SEEDSWLD (LPETN] AT (HBEFEHEEGS ST Qeuis.

A company purchased a machinery on 1.4.2001 for Rs. 2,40,000. On
315t March 2004 it sold off the machine for Rs. 1,68,000. Accounts are closed every
year on 31st March. Depreciation is written off at 10% p.a. on original cost. Prepare
Machinery account and Depreciation account for three years.

[ Hapliys / Turn over
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51.

52.

14

Ceren, LO@aleT erapild sal L raflser wparmCu . 60,000 ¢5.20,000 (p:
2001 gemeuifl 1ib BreT e gl Lrarenios Qamfler Qarmdart, 2001
31 prlerr® pReu@LW D QY @TgE  @erud (o Leru
SapuULLLmeusmené sfl&s Bl @peiy) . 12,000. 1psed 85 aul_ig. <2},@
6% <igdlsasliu@dng. UbVUEE sadub JaTHE®S €.
A@ofésuulQetarg. DAbs par® Cerenr o(HS Qsrens .
udeeuer er(gs Astas . 1,000. ighsTar el g wpenCu e6. 100
2BGL0.

Geyan, Ldbaaler du Gmeaumd swwrer eldssdm @emrutb L
Qsrereusras Qarar® @emu BLL USlTe| Saréma|d, gl L ralsdr
s@TE@GS@mETULD (LTHIUGRD 1PSD W) swrflés.

Cheran, Pallavan are partners with capitals of Rs. 60,000 and Rs. 20,000 respe
on 1st January 2001. The Trading Profit (before taking into account the provi
the Deed) for the year ended 31st December 2001 was Rs. 12,000. Interest on
is to be allowed at 6% per annum. Pallavan is entitled to a salary of Rs. 3,(
annum. The drawings of the partners were, Cheran Rs. 2,000 and pallavan Rs
the interest on drawings for Cheran being Rs. 100 and for pallavan Rs. 50.

Assuming that Cheran, Pallavan are equal partners, prepare the Profit an
Appropriation Account and the Partners Capital Account, also assuming tl
capitals are fluctuating.

R0 BpiosSler QuiSEHTsdr (aoreaug SiampLiLg CgTens eh. 3 WHMILD
Sl Cgres . 3 QeaudsLILL TS ap. 10 LogliLjemem 100 ST TyeRT Lirkie
enodpluy delgarr. Qo 40 ukiGser @m. 300 &g wm Geud
Cewiul Ler. ol whmib wm Ceuafliil iy parear LHaysmors
UBIE enukpliy samsmaub, paadlars SriiLs sardsamasiyb S(HS.

The Directors of a company forfeited 100 equity shares of Rs. 10 each on which tt
call of Rs. 3 and final call of Rs. 3 had not been paid. Of these 40 shares were re
upon payment of Rs. 300. Journalise the transactions of forfeiture and reissue of
and also prepare Forfeited Shares account and Capital Reserve account.
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@ u@ES - -/ PART - D
GOl : aemaiCGuignd epeTml NaTTESEHES elenL_wallsas. @Qeuhmer 53 gl
efenmeflhE slLmub elen welss Ceauambio. 3x20=60
Note : Answer any three questions including Question No. 53 which is compulsory.

53. (=) Gy Qer@issiul iy BEED elarmsmers Qaran(® Hwd. sCorgsganT
eauisailar 2004 wris 31 Eréar@ pyemL Wb &TR&ESGAw
wrury Geory pLLé sarsmaub, Sbpreneri QUL Hlenew &
GOlLeuwb swrt Gels.

@YpLILmiey
dhlensiis Sl a6y

& (-
(P& 7,50,000
Qs 40,000
S LD 4,00,000
FLOLIGTLD 1,10,000
QUM enaWLD, euflujbd 21,000
Qsr_&a& FréslHuL 1,20,000
@uwiBSrid 1,20,000
GT(RLIL|&ET 40,000
Qarerapse 5,00,000
el pLienent 7,50,000
o GTGNHE Fn6dl 5,000
eriflQumrRET LOHMHID ey 37,000
LIDLIE) SLGTar&eT 2,50,000
UhLIe SLalbCsTT 1,20,000
Qumsh@fw wrHn S HsEr 53,000
UBIGTSTIILD 28,000
S1_G0T 60,000
QUITTIT & 60T 2,000
eflembLIgD 16,000
@urrbg).asgﬁeq 6,000

17,14,000 17,14,000

[ $miys / Turn over
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&5 (DS

Q) Qong s7&H®HUY - Rs. 1, 40,000

() &igl1d B& Gguiorend 10% p-a. 56&S.

@) @pse g 10% pa. allg 2 (HAUTESS.

(v) @pengnlly CILOD sflay ep. 1,000

V) (pensnliq& QaqS FbUETLD €. 10,000

V6V
(=) Denau(HEUETADEDSE Qsream() @aTLs SETeLD QEsmisEmaTs sansS(Hs.

2004 1omirs 31 <= sTGETT( (PlgeuEnL D S ETHEGML eIy
Himiogslen QLT LHDID Georu BLL& STES

uHm U6y
- edleurid er. o eqleuiid €.
Qsm_&5 Fré&S UL 1,99,000| 69 pLicmen 17,00,000
QTIPS 11,19,000| @mé& 5768 ®UY 2,98,000
QwrEs @emuid &3 6,80,000
19,98,000 19,98,000
flireunas Geaesar 3,00,000| Quomgs @amuid &/@sT 6,80,000
eApuevand Qe seT 60,000| cui_1q- 18,000
B et QFere|&aT 30,000
@upHyd DD gHulL BLLD 8,000
i) QeorLibd 3,00,000
6,98,000 6,98,000




@

From the following particulars of Mrs. Sulochana, prepar

17

e Trading and Profit

and Loss Account and Balance Sheet for the year ending 315t March, 2004.

r Trial Balance
) S Debit Credit
Rs. Rs.
Capital 7,50,000
Cash 40,000
Buildings 4,00,000
Salary 1,10,000
Rent and Taxes 21,000
Opening Stock 1,20,000
Machinery 1,20,000
Drawings 40,000
Purchases 5,00,0Q0
Sales 7,50,000
Carriage inwards 5,000
Fuel, Gas 37,000
Sundry Debtors 2,50,000
Sundry Creditors 1,20,000
Bills Receivable 53,000
Dividend 28,000
Loan 60,000
Bad debts 2,000
Advertisement 16,000
Commission received 6,000
17,14,000 17,14,000

3666
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(b)

18

Adjustments :
(i) Closing Stock Rs. 1,40,000
(i) Write off depreciation on buildings @ 10% p.a.
(iii) Provide interest on capital @ 10% p-a.
(iv) Cbxmnission received in advance Rs. 1,000
(v) Prepaid salary Rs. 10,000
OR

From the following, calculate Profitability ratios.

Trading and Profit and Loss of Ambika and Company
for the year ending 31.3.2004

Dr. Cr.
Particulars Rs. Particulars Rs.

To Opening Stock 1,99,000(By Sales 17,00,000

To Purchase 11,19,000(By Closing Stock 2,98,000
To Gross Profit 6,80,000

19,98,000 19,98,000

To Administration Expenses 3,00,000(By Gross Profit 6,80,000

To Selling expenses 60,000|By Interest 18,000
To Financial expenses 30,000
To Loss on Sale of Plant 8,000
To Net Profit 3,00,000

6,98,000 6,98,000
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ik
54. Spserapid efeurhisemans Caran(h 1998 g 31-1b BreerT@ (PigeuemL D
<p&@rHEE N eNwrury @eru BLL& SETE@SIL|D SBHTEeTL QHLIL| Hlevad

GHlmub gurt Gews.

1.4.1997 31.3.1998
{5 -
LpLe sLalbCsTT 37,500 43,750
< G0 D &SGOG 2,500 2,500
Q&S0 6,250 10,000
Lpue sLenreflser 62,500 87,500
Fra8 LY 25,000 12,500

wHM NCUFBEISET :

Ldeims QFesar CsThSSs!

.
erpiyser 10,000
Qubp SeT(EpLilg 3,750
<eflgg ser@Epulg 2,500
Lhue sLamallsal O ®Ss QuDD AFTésDd 1,35,000
sLapCsTHEGE Qegsdw Grmésid 1,12,500
eNpuenens HmLLILD 3,750
Qamrarupge S 1,250

8,750

oiampsaen Bg 5% Csiwreand SésiiuL GauamGLD

[ Hliys / Turn over



3666 20

From the following information, prepare Trading and Profit and Loss account and a
Balance Sheet as on 31.3.1998.

Ason 1.4.1997( As on 31.3.1998
Rs. Rs.
Sundry Creditors 37,500 43,750
Furniture 2,500 2,500
Cash 6,250 10,000
Sundry Debtors 62,500 87,500
Stock 25,000 12,500
Other Details :
Rs.
Drawings 10,000
Discount received 3,750
Discount allowed 2,500

Cash received from sundry debtors 1,35,000

Cash paid to creditors 1,12,500
Sales returns 3,750
Purchase returns 1,250
Sundry expenses paid 8,750

Charge depreciation on furniture 5%




1S

55. (Qemaud efeurrisafledmngl 2005 LOTTE, 6

21

QuréssSL LU Ul pwamed Su Tfl&s.

L pmd CLowl LTS kIS @HEIS e

i i ! ; ] Hlireuns WHDHILD
| e QsmeTepgen | S SO\ LIenent ] :
LDTSLD Apuenen QEe|ser
42 -
€rp.

sparaiifl 75,000 1,50,000 1,20,000
Qiireul 1,00,000 1,35,000 1,35,000
LOMTE 85,000 1,75,000 65,000
gLiFev 1,25,000 1,20,000 70,000
Guw 90,000 1,40,000 80,000

(1) 1.3.2005 & TETGCHTEGWD Qprés @esLiy en. 80,000.

(<) s7ssansCarT SiIndlss sLafler ST @rerr® WISRISET.
(@) UTgEmaELTETT&HEHSES oiafss Sl ST @ WISLD.
() Qeweysar SibTESSGCHGEW QegussiiuL. GCeuam@id.

(2) eriugedled em. 25,000-5@ Heveos Qersg elhsuuL 2 _GTETg).

Prepare a cash budget for the month

of March, April and May 2005 from the following

information :

Mok Credit Purchases Credit Sales Aieﬁiiizz;l;zd
January 75,000 1,50,000 1,20,000
February 1,00,000 1,35,000 1,35,000
March 85,000 1,75,000 65,000
April 1,25,000 1,20,000 70,000
May 90,000 1,40,000 80,000

(a) Expected cash balance on 1.3.2005 is Rs. 80,000

(b) Suppliers allowed a credit period of two months.
(c) A credit period of one month is allowed to customers.
(d) Expenses are paid in the same month.
(e) Sale of fixed assets Rs. 25,000 in April.
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LITGRTig ILIGHT, LIGGGIE, Qamipet GTeD ol L_meflser (pempG . %% GTenid
AHssHe Georu prLD USTHE QareTEnD L TEmaLO Hmieiensglen
31.12.2004. <D HreTETEHU @i HlenasEHiu 1Qemeu(BLOTD

LpLIe gL aTHESTT 94,500| Qr&sLd

31,500| curidl

Qeaussn@iu LT &_(H&eT
sty Hid

QarHuLm Q&6 HET

WS -

Liismg wé : 1,80,000

1,20,000| Flaoapto, GU_LL_(LpLD

4,000| 9460 D&

LIGDGVGLIEDT = 1,65,000
Camipen - 95,000

, 6,90,000

—DIGUTEHET Qemeu(HLD ué\r‘rmas@éa@l;ui_(ﬁt 2005 g@:ﬂmrﬂ 1 =yl HreT Qarye
cranucuenys CEioeIs Qardrer plgey GElIBeTT.

(=) Goyen penaienit % UkIEEE 5. 80,000 (PSP Qe al(HaIS-
(<o) SIEPPEEET B em. 3,500 Gaiioreand HEES!

(@) sresmUY @iy 10%. GapULS

(FF) Bl sl gHer wHUY O 3,25,000 <245 wHHGUHOD Qelicug!.

T IS G FENEG, POV SETEGSET LHHID THBl LSS
sal_L_raranouden @oUY Hlened GHiuy <y fluieuden surt Cis.



ﬁle following are the Balance Sheet of Pan

and losses in the proportion of y X % and %
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dian, Pallavan and Chozhan sharing profits
respectivley as on 31.12.2004.

Liabilities Rs. Assets Rs.
Sundry Creditors 94,500|Cash 10,000
Bills Payable 31,500|Bank 1,20,000
Reserve Fund 1,20,000|Land and Building 2,50,000
Qutstanding expenses 4,000|Furniture 35,000
Capital : Stock 1,45,000
Pandian : 1,80,000 Debtors 1,30,000
Pallavan : 1,65,000
Chozhan : 95,000 4,40,000
6,90,000 6,90,000]

They decided to admit Cheran info the P
on the following terms :

(@) Cheran should bring in Rs. 80,000 as his capital for

(b) Furniture be depreciated by Rs. 3,500.

(c) Stock be depreciated by 10%.

artnership with effect from 1st January, 2005

%L share of profits.

(d) The value of land and buildings having appreciated be brought upto Rs. 3,25,000.

Show revaluation account, capital accounts and the balance sheet of the reconstituted

partnership.
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57. sreveud FAmwd . 20,00,000 mEsNssliulL wposasms . 100
UBIGseTTsl Gupmeterg. @& 10,000 LKIGSEHSSTET 6l 6mTenT L kg amer
Qemaumonn Qeaissssss eamsuder aurCeaupn Geuafudl L g).

cllamramriLigSlen Cumg em. 30
&16& g Curg erp. 20
W5 mplilarCurg eh. 25

@mé sjenplibenGuirg (5. 25

Blmion 12,000 ukiGsEpssTar elarariiusdamar QuHDEg. 10,000 LkiEs6T
@ULs Gereterul (), 2,000 ukiGseT WBarear ellararTiiumsear Brraflésiiul @
mlululLer. smarsgd Qsrasyd QupliuliiLg. GCsaeauwre
GHLCULD uflojsamer sbgl cuBIS SmTEE, LIBIE (PSD SHTéE HMID Gl
Hlevaws GPllenusg swrm Calis.

Saraswathi Ltd. having an authorised capital of Rs. 20,00,000 in shares of Rs. 100 each
invited applications for 10,000 shares payable as follows :

On Application Rs. 30
On Allotment Rs. 20
On First Call Rs. 25
On Final Call Rs. 25

The company received applications for 12,000 shares. Applications for 10,000 shares
were accepted in full and the money on 2,000 applications rejected was returned. All
money due as stated above was received. Pass necessary Journal entries. Prepare
Bank Account, Share Capital Account and Balance Sheet.
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